Excerpt 1. A minefield
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= DRV’s embodied conduct
= TL’s embodied conduct
= DRV’s driving of the car

up to fifty millimeters V(en (.) fahrt),

>>gaze down to AM------- Vgaze up, looks around--->
(2.3)
up to fifteen millimeters (0.4) of weapons,
(0.3)
>is it like that<.
(1.5)
#the:re's a ¥minefield over there, *
#figla
--->Vgaze fixed to front--->
>>gaze down--*gaze up—--—->

(0.5)
#shit.
#figlB
(0.9)#*(2.4)

#figlcC

-->*gaze down--->

V((sniff))
-->V¥turns head gazes to left--->

(1.3)v(0.8)
--->Vgaze front--->
°toka:y°?,
(4.0)
okay #there's no violation becau*se (.) it was,# (0.4)
#figlD #figlE

-->*gaze up--->
<twelve point seven> millimeter,
(2.0)
[okay],
[m:ax]imum,
(2.2)*(0.2)+Vv#(1.4)
——>%
+stops car, stationary--->
-->V¥glances left--->
#figlF
Vithere's a minefield, (.) VYwe cannot *go through.
->Vgaze fwd, points fwd------ v
*searches--->
#figlG
(2.2)
where is #this,
#figlH
>what do you need<, #
#figllI
(0.4)
we need to keep,* (0.4) @log book as well,
-—-->*grabs logbook, gaze down--->
(2.2)
okay what shall we do now we hav:e to turn around,#
#figld
(1.0)
we need to# inform about this.
#figlK
(2.3)
a:h we Vi#can (.) turn left Vhere.
Vgaze left---———-——-—- Vgaze fwd--->
#figlL
tor Vitturn right,v
Vpoints rightV
#figlM
(2.2)
MMh,
(2.6)
a:h #we go anyway- we: turn right anyway yeahg
#figlN
(0.4)* (0.9) *# (2.5)*
#figlo
-->*1ifts gaze*grabs map---*shows and points--->
we are #over there (wennio),
#figlp
(0.6)
*going, (.) to: the right,*
->*points right----—————---—- *
(0.6)
okay,
(0.5)
so we are not+ (.) allowed,
--->+slowly drives forward--->
so we'll report?
(0.7)
issis the confirmation nog
ye:ah this is the confirmation minefield (.) should exist
over thr- o- in this location vic:tor three.

there's+ a mark, mt+[ine field 1.
[okay so we turn] right yes?=
—-—->+stops----- +drives slowly—-—->>

=yes this is,



